Exl: Tomg § X= (atelogyy cod e ~
Y= (atblapy Sad > > 4’;2 , 0SB 5 B>, b>o
N

2= lo§\"\\+

TU( - C-Eg\‘nq)(ﬂge) Q——LSM'{)S\‘V\@ R Lﬂos% >
To = |< (atutosty(=fing) | (Gibsy) &0, © >

TexTo = 1 [—L (otbosp Cosd Coso |

-) [— b0+ bt (-$nD)- &S|

tle | b (@tbingp) SingCon0 ~ L(o+5 et S sivp |
2 = (o+bimy) Beygmp, G4m0, Sing >

")

(0) 0+b,0)

* —
i;:% > Ty XTe = ~b(aty( o, | , 0>

CV\WOxJ V\ormaﬁ Vet

Exz: < T;: (a%&swczws o0& OLRA
— (OH G Smd
< <
2= LSt o<t an
2 Otitntotimn: [ X [y
2 Owtwoﬂx
Tox Ty
” Y
Gl

S



b3 lpsad G )

X = Y(osd OSSSZK
UPP%‘W"(' S f‘y‘:ksms 0g ¥ £\ ‘
2z 2Jir?
Lowar half - X = Yeosd o< ® < om '
Y = r<ing YT

2 T -2 g% ©¢ =<\

Ex‘/—: Camlam Vo,l,«w. d(; the 3D l‘V‘StdSL tha Q‘M‘PSDM aLOVQ,

L{ 2
Vodume = (( § l d;«i?olz = (ﬁ§ [g l dz) rdvde
\/ o O |2 J5~
= gf LI vdr
© d (5

= 4 (e dr
- [ 5

(5=t = s=it>ds=-d¢)
~ 4x S‘IO A€ )
— L= ( — 2 ‘3’ ' _ AR
-« gﬁ&*"‘ﬂ[’f‘t H -~z

How P}’aurum Pl(—), §(°«)

751> C=C.0G
$ -




GMS / Diverjene Ttu,ov@m
(1§ 9-<6, e = ({25 S
¢
<, R = 5 <X )Y, 2>

> §V§§\ow%%: g Lty a5 mdS

EXS‘: L = (Rlesx +Y2) df}}/\d?f % da~dx +~§2Sw< D\X/\o(}
§:€?: X¥9° with  woward hormmad.

o0& XH* £\
) o
%
YO/Q: '”4\“,\
AR S X= Feoss o< B<ar
7 9: rscnd
. efrE]
X 2 ¢

To C Tatrtyz, 0%, = Swo
TE = —agnK 4 ZSnx o D (W =0

> o IS ot
(Potncore Lom)=> L0 = d (- =7 g‘m) dx (S tosx 57>d,>
:do\

gsg(,u*: gg&&:i&



-

:>£g6u +§S§lw:o




